REERR

Ph¥oFI5

A10214 | 27 B5iRFR/ S K10tT L

SGPE A OBLE##EEIA/ N> Ko 10mmT A1,
OAHMDATIIIRENMZER ZEFEICEK TR IEHY) €A,
@SUS 304&L,

M
AC
=]
&
=

mEI-K A10214 X7 UB5iRMB/N M10td LA B 7 (mm)
PAZX | & B | BOR | o pmeprs ARV B A B
Ik ) ®) HEEENME| t C "&xgx | D | F D
0015 15A Vo 21.7 2.0 25 M 8X25 26 8
0020 20A % 27.2 2.0 25 M 8X25 26 8
0034 25A 1 34.0 2.0 25 M 8X%25 26 8
0049 32A 1% 42.7 20 | 25 M 8X25 26 8
0053 40A 1% 48.6 2.0 25 M 8X%X25 26 8
0068 50A 2 60.5 20 | 25 M 8X25 26 8
0072 65A 2% 76.3 3.0 | 25 M 8X25 26 8
0087 80A 3 89.1 3.0 | 25 M 8X25 26 8
0091 100A 4 114.3 3.0 25 M 8X%25 26 8
0104 125A 5 139.8 4.0 | 32 M10X 35 35 10
0119 150A 6 165.2 4.0 32 M12 X 45 35 10

AKORIE, TLOMKPEDBIHZEOGHYET,

(FE T L)

A10174 | B5iRR O Y 714

SGPERDILIEFHEBIR/ N> Ko 10mmT L1,
OAHMNATIIIREMTER Z FREICER T BV RIEH TEA,

@SBRI - FE LI,
@mEI—F A10174 BhiRmBOY 71{# BT (mm)
PAZX [ B | FOR | vonmmps #fEARIL b RAIV S| A
w018 [ 158 | % 217 23] 25 | M8x25 | 26 | 82] W%
0022 | 20 | % 272 | 23|25 | M 8x25 | 26 | 85| W%
0037 | 25A | 1 3.0 | 23|25 | M8x25 | 26 | 88| W%
0041 | 32a | 1% 427 23|25 | M8x25 | 26 | 93| W%
0056 | 40A | 1% 486 | 23|25 | M8x25 |26 | 96| W%
0075 | 50A | 2 60.5 | 23|25 | M 8x25 | 26 |102| W¥%
0080 | 65A | 2% 763 | 32| 25 | M10X30 | 26 | 109 | W%
0094 | 80A | 3 891 | 32|25 | M10x30 | 26 | 116| W%
0107 | 100A | 4 1143 [ 32| 25 | M10x30 | 26 | 128 | W%
0111 | 1254 | 5 139.8 |45 | 32 | Mi2x45 | 35 [ 153 | W
0126 | 150A | 6 165.2 | 45| 32 | M12x45 | 35 | 166 | W',

KA. TLAOBRPEDZHZEOHIET,

33%




